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Triangle Similarity 7.3 Notes

There are 3 ways to show that two triangles are similar:
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Determine whether the following pairs of triangles are similar. Justify your answer.
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Practice Examples

In each problem, you will have a proportion. When you write a proportion, keep the

same triangle in the numerator, and keep the same triangle in the denominator.

For each problem, (a) Identify the Similar triangles and how you know they are similar, (b) find x, (c) find the
measures of the indicated sides.
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